
Tel. 04 68 25 38 16
Fax. 04 68 72 51 61

0,00kgPoids :Poids :Poids :Poids :

ROUTE DE MONTRÉAL BP.1017
11850 CARCASSONNE CEDEX 9

BOITIER DE PIQUAGE BOITPIQCHAP

30/07/2013

1 1 ECROU FREIN H - M12 9900542
2 1 ENTRETOISE ZINGUEE 141054
3 1 POIGNEE 082468
4 1 SUPPORT 585098
5 1 TOURILLON LISSE ZINGUEE 145020
6 1 TOURILLON TARAUDÉ ZINGUÉ 141052
7 1 VIS 580249
8 2 FLANC BOITIER PIQUAGE 082469
9 2 RONDELLE W - 12 9908069
10 2 VIS H - M12 × 25 9962098
11 3 ECROU H - M12 9900215
12 3 VIS H - M12 × 70/30 9961912

Repère Quantité Désignation Référence

4

5

7

12

8

1

9

6 10

3

11

2


